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For anyone who hops, if when it turns, it sees its nest, it hops

OVERVIEW

The X3 explained that the case of the 7awn (where 12w 717 219 P22 '3 1°2 IR¥AI)
1s where the two 7"227Ww were found in a path of a vineyard. We are not concerned
that perhaps the birds came from elsewhere, because the found bird was a 777 and
a bird who is 777 will not continue to be 77772 unless it can see its nest. And since
it was found 212 W °awa this means it cannot come from a nest outside the
a'n73, for the 2°»72 will prevent her from seeing her nest. Therefore, we must
assume that the bird came from the 7212 that was inside the 2°»75 5w %°2w (so it can
see its nest). NMoDIN clarifies this answer.
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It was not necessary for the X n3 to say this which it said, °0p% st 977 X'

'9779%, in order to answer the question, ‘why we do not assume that this bird came from

elsewhere’; the reason it is not necessary -
= NNAYYT NIIY WNNIY XD [IN] D19997 19 DIWNNN 9 RNDYT 1P92IVT 1))

Since presumably the 12212 from elsewhere are further than fifty m»x from the

23173, so then there is no concern for the majority at large -
= DYVNNND 9N D179 1N D110 a1
For whoever hops cannot hop more than fifty nX, so how could the birds xn%v»

reach this 0’75 5w 9°2w, since they are more than 7K "1 distance -
= DNYY NNX DIVNN TINT DNIINY P93IV %Y 190 DaN

However regarding these two 322w, that the 229> are within 7R ' (for the

1°22W are in the 0772 YW 2°2w) -
= NN DXWNND NIN NN IT2AN 1YY NTY 219D 999V SN

It is properly understood that the closer one owns it, even if it was found

outside the N '1 -
= 105%UNN17D 95 2775 D999 21> HYT N7119 NIHN 79) N9

Since it did not lose its status as a 777%, for with the assistance of 229> the

' We have explained the 71wn without resorting to the idea of 77 m1p% 1 777 °R. The case is where the two 732w
were in a 2’115 2w 22w. The bird (which was a 7771) was found (even) more than fifty n¥R away from the 1321.
However, there were no 1321w within fifty nwak of the o73. Therefore, it cannot have come ¥n%vn because no bird
can be 7772 more than 77X "1 (usually). However, the bird could come from this (closest) 72w, even though it is more
than 7R 1 distance, since it is within fifty nwk of the 073 (it is in the 213 Hw 9°2w), therefore it can be 7772 up to
the 075 and continue to be 7771 with the assistance of the 072 even more than fifty nnx.
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birds are ;7177 more than fifty K. The unspoken question remains; why did the X723
mention > 7°PY A 777 X'

mooin replies:
= 2090990 122 NIYYT 19921V 10 DN 1D9NRT 299N NN

Rather the reason the XX mentions 21 777 °X' is that even if the mwn is

discussing a case where the outside "2 are also in the vineyard, so they too
can be 7771 more than 79X "1, nevertheless it belongs to the closer 721w which is found 5w %°2wa
073, but not to the 721w which is found @237 772 —

An alternate scenario:
= 9%aYN PINA 1P92IUN 72 IINY ¥NRYN DAY UPITH T

And additionally, since the 71w mentions 2w (pathway), this indicates that

these two 192292 are in the 2w -
- 952N TINA KM 19 199 91993

And the bird was also found within the 952w -
= 4995 DPINI DN ITPAN NIYYT 12921WN 3)NYW WNINID NIIDT

So therefore, there is no concern at all that this bird is from X»by7 3°221W, even

if the Xn%y7 122w are not at all far away; the reason is that -
172IUN 19259322 D091 937 PNRT RN 19U IINN AN 19399 51N 8 RYT 119

Since it cannot see its nest, it will not be 7772 (even less than '1), however we can
assume that it is from (the closer of) these 122w which are in the 972w, for there

is nothing which separates between the bird and the 722W; they are both in this
clear path, so they can see the nest (7210).

SUMMARY

The reason the X 1) states that a bird will not be 77777 if it cannot see its nest, is to
explain why we are not concerned for X»%¥7 X211 even if it is a case where the
NnPYT 1221 are 01097 13, or even if they are less than X "1 from the bird.

2 We give it to the T2 that is 213 W 2°2w3 because since it is 2°2w3 (a clear path) it can always see its nest, even
from more than 7R "1 distance; however, we do not return it to the 27377 "2 72w, since the grapevines prevent the
bird from seeing it nest, therefore it will not be 7772 that far. In this case we are discussing where the bird was found
more than fifty m»X from all the 1221w. However, since it is 2’1737 12 it can be 77772 more than 1. Nevertheless, we
give it only to the (closer) 72w which the bird can see from the place where he is found, but not to the ¥»n>yn Pa2w,
which the found bird cannot see because the grapevines block it.
3 A marginal note amends this to read X177 (instead of 17).
4 The other 122w may even be within 1 of the found bird, and nevertheless we do not assume that it came from
those other 7"22w.
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THINKING IT OVER

It seems that the difference between the first answer of n101n and the 7w, is
whether the Xn59v7 122w are more than NM»R '1 away,® or even if they are within '
mnx.> However it would seem that in both cases the two 7221 must be in the 772w
0°»72 W, so that the bird can see its nest. Why then does N0 mention this only
in the "9, but not in the initial explanation?!’

> See footnote # 2.

¢ See footnote # 4.

75" 99R, the first answer of Moo is saying that even though the simple understanding of the X3 is that the bird
was found 17 Y1 (from all the 1°22W), so there is no need for the X713 to say 121 *7717 257, nevertheless we can
establish it in a case where the Xn%v7 1°32%W were also 2127 1°2 so they too can be 71772 more than 1. However, since
191 >77°17 93, they will not be 7777, therefore we give it to the 727w that is in the 7°2w. However, there was no need to
establish the 71wn in such a case. The "1y, however is possibly arguing that the answer of the X3 that it was found
o°mn5 YW w3, indicates that the other 2°22Ww we also 1 7in. The X3 could have simply answered that the Pa2w "2
were in the 0°»72 and therefore the bird can be 77772 more than '1, while there were no other 1227 within 72X 1 of the
o'n3. Therefore, since it was 777 it cannot be from the other 1"521w; why mention 5°aw at all?! This indicates to us
that the & 13 did not mean to answer that the other 1"227W were far away, but rather all the 1"227 were within "1 of the
bird and in the o73. The only difference is that these two 1220 were in the 22w where the bird can see them. The
other 1221w were also within 1 of the bird, but not in the 2w, so therefore it does not belong to them since they
cannot see their nest and we know that 217717 95.
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